

ON INFERIOR LIMITS FOR THE INCREMENTS OF GAUSSIAN PROCESSES

YONG KAB CHOI, SHIN MIN KANG AND YEOL JE CHO

1. Introduction

Let $\{W(t); 0 \leq t < \infty\}$ be a standard Wiener process on a probability space $(\Omega, \mathfrak{F}, P)$. Let $a_T (0 < T < \infty)$ be a monotonically nondecreasing function of T for which

- (i) $0 < a_T \leq T$,
- (ii) T/a_T is monotonically nondecreasing,
- (iii) $\lim_{T \rightarrow \infty} (T/a_T)/\log \log T = \infty$.

We denote

$$\gamma(T) = (2a_T(\log(T/a_T) - \log \log \log T))^{-1/2}.$$

Shao [7] proved the following:

$$(*) \quad \liminf_{T \rightarrow \infty} \gamma(T) \sup_{0 \leq t \leq T - a_T} |W(t + a_T) - W(t)| = 1 \quad \text{a.s.}$$

and

$$\liminf_{T \rightarrow \infty} \gamma(T) \sup_{0 \leq t \leq T - a_T} \sup_{0 \leq s \leq a_T} |W(t + s) - W(t)| = 1 \quad \text{a.s.}$$

In this paper we are going to investigate the result (*) on Gaussian processes. Let $\{X(t); 0 \leq t < \infty\}$ be an almost surely continuous Gaussian process with $X(0) = 0$, $E\{X(t)\} = 0$ and stationary increments $E\{X(t) - X(s)\}^2 = \sigma^2(|t - s|)$, where $\sigma(y)$ is a function of

Received August 3, 1995.

1991 AMS Subject Classification: 60F15, 60G15.

Key words: Wiener process, Gaussian process, regularly varying function, Borel-Cantelli lemma.

The authors were supported in part by the Basic Science Research Institute program, Ministry of Education, Korea, 1995, Project No. BSRI-95-1405.

$y \geq 0$. Further we assume that $\sigma(t)$, $t > 0$, is a nondecreasing continuous concave, regularly varying function with exponent α ($0 < \alpha < 1$) at infinity (e.g., if $\{X(t); 0 \leq t < \infty\}$ is a standard Wiener process, then $\sigma(t) = \sqrt{t}$). Let a_T ($0 < T < \infty$) be a monotonically nondecreasing function of T for which

- (i)' $0 < a_T \leq T$,
- (ii)' T/a_T is monotonically nondecreasing,
- (iii)' there exists a large constant $r_0 > 0$ such that for $\epsilon > 0$

$$\lim_{T \rightarrow \infty} (T/a_T)/(\log \log T)^{1+\epsilon} = r, \quad r_0 \leq r < \infty.$$

For large $T > 0$, let us denote

$$\gamma_T = (2\sigma^2(a_T)(\log(T/a_T) - \log \log \log T))^{-1/2}.$$

and define continuous parameter processes $X_1(T), X_2(T), \dots, X_6(T)$ by

$$\begin{aligned} X_1(T) &= \sup_{0 \leq s \leq a_T} \sup_{0 \leq t \leq T-s} |X(t+s) - X(t)|, \\ X_2(T) &= \sup_{0 \leq s \leq a_T} \sup_{0 \leq t \leq T-s} (X(t+s) - X(t)), \\ X_3(T) &= \sup_{0 \leq s \leq a_T} \sup_{0 \leq t \leq T-a_T} |X(t+s) - X(t)|, \\ X_4(T) &= \sup_{0 \leq s \leq a_T} \sup_{0 \leq t \leq T-a_T} (X(t+s) - X(t)), \\ X_5(T) &= \sup_{0 \leq t \leq T-a_T} |X(t+a_T) - X(t)|, \\ X_6(T) &= \sup_{0 \leq t \leq T-a_T} (X(t+a_T) - X(t)), \end{aligned}$$

respectively. Clearly, $X_1(T)$ is the largest process and $X_6(T)$ is the smallest one of all $X_i(T)$, $i = 1, 2, \dots, 6$. $X_i(T)$ are so-called the Csörgö-Révész increments (see [3], [4] and [6]).

In section 2 we shall investigate almost sure inferior limits of $X_i(T)$, $i = 1, 2, \dots, 6$, and in section 3 we shall obtain a similar result as in section 2 for a stationary Gaussian sequence.

2. Main results

THEOREM 1. *Let $\{X(t) : 0 \leq t < \infty\}$ be a Gaussian processes as above. Let $a_T (0 < T < \infty)$ satisfy the conditions (i)' \sim (iii)'. Then we have*

$$\liminf_{T \rightarrow \infty} \gamma_T X_i(T) = \sqrt{\frac{r}{1+r}} \quad i = 1, 2, \dots, 6, \quad \text{a.s.}$$

In order to prove Theorem 1, we need some lemmas:

LEMMA 1. (Slepian [8], Adler [1]) *Let $\{X(t); t \in T\}$ and $\{Y(t); t \in T\}$ be centered Gaussian processes such that $EX^2(t) = EY^2(t)$ for all $t \in T$ and $E\{X(t)X(s)\} \leq E\{Y(t)Y(s)\}$ for all $s, t \in T$. Then*

$$P\left\{\sup_{t \in T} X(t) \leq u\right\} \leq P\left\{\sup_{t \in T} Y(t) \leq u\right\}$$

for any real number u .

LEMMA 2. *Let m and k be any positive number. Then for any small $\epsilon' > 0$ there exist large constants $c, C_{\epsilon'}$ (depending on ϵ') and $u_0 = u_0(k, m, \epsilon')$ such that for all $u \geq u_0$*

$$\begin{aligned} (1) \quad & \frac{1}{\sqrt{2\pi}} \frac{k}{m(u+c)} e^{-u^2/2} \leq P\left\{\sup_{0 \leq t \leq k} \frac{X(t+m) - X(t)}{\sigma(m)} > u\right\} \\ & \leq P\left\{\sup_{0 \leq t \leq k} \sup_{0 \leq s \leq m} \frac{X(t+s) - X(t)}{\sigma(m)} > u\right\} \leq C_{\epsilon'} \frac{k}{m} e^{-u^2/(2+\epsilon')}. \end{aligned}$$

Proof. Let us prove the first inequality. Let

$$\Phi(u) = \int_u^{+\infty} \frac{1}{\sqrt{2\pi}} e^{-x^2/2} dx, \quad u \geq 0.$$

Then, by Fernique([5], p.71), the inequality

$$(2) \quad \frac{1}{\sqrt{2\pi}(u+1)} e^{-u^2/2} \leq \Phi(u) \leq \frac{4}{3} \frac{1}{\sqrt{2\pi}(u+1)} e^{-u^2/2}$$

holds for all $u \geq 0$. For given k and m , we set $h = [k/m]$, where $[y]$ denotes the greatest integer not exceeding y . For $i = 0, 1, \dots, h$, let us define the incremental random variable

$$Y(i) = X((i+1)m) - X(im).$$

From the concavity of $\sigma^2(t)$ it follows that, for $l = |i - j| \geq 1$,

$$\begin{aligned} & \text{covariance}(Y(i), Y(j)) \\ &= E\{X(im)X(jm)\} - E\{X(im)X((j - 1)m)\} \\ &\quad - E\{X((i - 1)m)X(jm)\} \\ &\quad + E\{X((i - 1)m)X((j - 1)m)\} \\ &= \frac{1}{2}\{(\sigma^2((l + 1)m) - \sigma^2(lm)) - (\sigma^2(lm) - \sigma^2((l - 1)m))\} \leq 0. \end{aligned}$$

Applying the inequality (2) and Lemma 1, we have

$$\begin{aligned} (3) \quad & P\left\{ \sup_{0 \leq t \leq k} \frac{X(t + m) - X(t)}{\sigma(m)} \leq u \right\} \leq P\left\{ \sup_{0 \leq i \leq h} \frac{Y(i)}{\sigma(m)} \leq u \right\} \\ & \leq \{1 - \Phi(u)\}^{h+1} \leq \exp(-(h + 1)\Phi(u)) \\ & \leq \exp\left(-\frac{h + 1}{\sqrt{2\pi}(u + 1)}e^{-u^2/2}\right) \leq \exp\left(-\frac{k}{m} \frac{1}{\sqrt{2\pi}(u + 1)}e^{-u^2/2}\right). \end{aligned}$$

By (3), we obtain

$$\begin{aligned} P\left\{ \sup_{0 \leq t \leq k} \frac{X(t + m) - X(t)}{\sigma(m)} > u \right\} & \geq 1 - \exp\left(-\frac{k}{m} \frac{1}{\sqrt{2\pi}(u + 1)}e^{-u^2/2}\right) \\ & \geq \frac{1}{\sqrt{2\pi}} \frac{k}{m(u + c)}e^{-u^2/2}. \end{aligned}$$

The last inequality of (1) is easily shown from Choi([2], p.202).

Proof of Theorem 1. We first prove that

$$\liminf_{T \rightarrow \infty} \gamma_T X_i(T) \leq \sqrt{\frac{r}{1 + r}} \quad \text{a.s.}$$

By using Lemma 2 and condition (iii)', we have, for any small $\epsilon > 0$,

$$\begin{aligned} & P\left\{ \gamma_T X_1(T) \leq \sqrt{\frac{r}{1 + r}}(1 + \epsilon) \right\} \\ & \geq \exp\left(-C_\epsilon r^{-\left(\frac{\epsilon}{2+\epsilon}\right)\left(\frac{r}{1+r}\right)} (\log \log T)^{-(1+\epsilon)\left(\frac{r-1}{r+1}\right)}\right) \end{aligned}$$

for all large T , where $0 < \epsilon'' < \epsilon$. We set $T_k = \exp(k^b)$, $k = 1, 2, \dots$, where b is chosen such that $0 < b < 1$. Then, for $T_k \leq T \leq T_{k+1}$, we have

$$(5) \quad P \left\{ \gamma_{T_{k+1}} X_1(T_{k+1}) \leq \sqrt{\frac{r}{1+r}}(1 + \epsilon) \right\} \geq \exp \left(-C_{\epsilon''} r^{-\left(\frac{\epsilon}{2+\epsilon}\right)\left(\frac{r}{1+r}\right)} (b \log k)^{-(1+\epsilon)\left(\frac{r}{1+r}\right)} \right).$$

Let

$$A_k = \left\{ \gamma_{T_{k+1}} X_1(T_{k+1}) \leq \sqrt{\frac{r}{1+r}}(1 + \epsilon) \right\}.$$

Then, by (5), we get

$$\sum_k P(A_k) = \infty.$$

Setting

$$A'_k = \left\{ \gamma_{T_{k+1}} X_2(T_{k+1}) \leq \sqrt{\frac{r}{1+r}}(1 + \epsilon) \right\},$$

and

$$A''_k = \left\{ \gamma_{T_{k+1}} X_2(T_{k+1}) \geq -\sqrt{\frac{r}{1+r}}(1 + \epsilon) \right\},$$

we have

$$\sum_k P(A'_k) = \infty \quad \text{and} \quad \sum_k P(A''_k) = \infty.$$

From the concavity of $\sigma^2(t)$ and using Lemma 1, we obtain

$$P(A'_k \cap A'_l) \leq P(A'_k)P(A'_l) \quad \text{and} \quad P(A''_k \cap A''_l) \leq P(A''_k)P(A''_l)$$

where $k \neq l$. It follows from the second Borel-Cantelli lemma that

$$-\sqrt{\frac{r}{1+r}}(1 + \epsilon) \leq \limsup_{k \rightarrow \infty} \gamma_{T_{k+1}} X_2(T_{k+1}) \leq \sqrt{\frac{r}{1+r}}(1 + \epsilon) \quad \text{a.s.}$$

So, we have

$$\liminf_{k \rightarrow \infty} \gamma_{T_{k+1}} X_1(T_{k+1}) \leq \sqrt{\frac{r}{1+r}} \quad \text{a.s.}$$

Also we obtain

$$\liminf_{T \rightarrow \infty} \gamma_T X_1(T) \leq \liminf_{k \rightarrow \infty} \gamma_{T_{k+1}} X_1(T_{k+1}),$$

because

$$\begin{aligned} \gamma_T X_1(T) &\leq \frac{\sigma(a_{T_{k+1}})}{\sigma(a_{T_k})} \left(\frac{\log((T_{k+1}/a_{T_{k+1}})/\log \log T_{k+1})}{\log((T_k/a_{T_k})/\log \log T_k)} \right)^{1/2} \\ &\quad \times \gamma_{T_{k+1}} X_1(T_{k+1}) \end{aligned}$$

and

$$\begin{aligned} 1 &\leq \frac{\sigma(a_{T_{k+1}})}{\sigma(a_{T_k})} \leq \frac{\sigma(\exp(bk^{b-1})a_{T_k})}{\sigma(a_{T_k})} \\ &\leq \exp(b(\alpha + \epsilon)k^{b-1}) \rightarrow 1 \quad \text{as } k \rightarrow \infty. \end{aligned}$$

Next we prove that

$$\liminf_{T \rightarrow \infty} \gamma_T X_6(T) \geq \sqrt{\frac{r}{1+r}} \quad \text{a.s.}$$

By using the inequality (3) and condition (iii)', we have, for given small $\epsilon > 0$,

$$\begin{aligned} P\left\{ \gamma_T X_6(T) \leq \sqrt{\frac{r}{1+r} - \epsilon} \right\} &= P\left\{ \sup_{0 \leq t \leq T - a_T} \frac{X(t + a_T) - X(t)}{\sigma(a_T)} < \sqrt{\frac{r}{1+r} - \epsilon} \left(2 \log \frac{T/a_T}{\log \log T} \right)^{1/2} \right\} \\ &\leq \exp\left(-\frac{T}{a_T} \frac{1}{\sqrt{2\pi}} \left(\sqrt{\frac{r}{1+r} - \epsilon} \left(2 \log \frac{T/a_T}{\log \log T} \right)^{1/2} + 1 \right)^{-1} \right. \\ &\quad \left. \times \left(\frac{T/a_T}{\log \log T} \right)^{-((r/(1+r)) - \epsilon)} \right) \\ &\leq \exp\left(-\frac{1}{4\sqrt{\pi}((r/(1+r)) - \epsilon)^{1/2}} r^{(1/(1+r)) + \epsilon'} \log \log T \right), \end{aligned}$$

for all large T , where $0 < \epsilon' < \epsilon$. Putting $T_k = \exp(k^A)$ where $A = \sqrt{(r/(1+r)) - \epsilon}$, we get

$$\begin{aligned} P\left\{ \gamma_{T_k} X_6(T_k) \leq \sqrt{\frac{r}{1+r} - \epsilon} \right\} &\leq \exp\left(-\frac{1}{4\sqrt{\pi}} r^{(1/(1+r)) + \epsilon'} \log k \right) =: \exp(-B \log k) = k^{-B} \end{aligned}$$

where $B > 1$ for large $r > 0$. Using the Borel-Cantelli lemma, we have

$$\liminf_{k \rightarrow \infty} \gamma_{T_k} X_6(T_k) \geq \sqrt{\frac{r}{1+r}} \quad \text{a.s.}$$

Let $T_k \leq T \leq T_{k+1}$ and $T_k = \exp(k^A)$, $0 < A < 1$. It suffices to prove that

$$\liminf_{T \rightarrow \infty} \gamma_T X_6(T) \geq \liminf_{k \rightarrow \infty} \gamma_{T_k} X_6(T_k) \quad \text{a.s.}$$

Since $T_k - a_{T_k} \leq T - a_T$, we have

$$\begin{aligned} \gamma_T X_6(T) &\geq \left(2\sigma^2(a_{T_{k+1}}) \log \frac{T_{k+1}/a_{T_{k+1}}}{\log \log T_k}\right)^{-1/2} \left(X_6(T_k) \right. \\ &\quad \left. - \sup_{0 \leq t \leq T_k - a_{T_k}} \sup_{0 \leq s \leq a_{T_{k+1}} - a_{T_k}} |X(t+s) - X(t)|\right) \\ &=: D_k \gamma_{T_k} X_6(T_k) - \left(2\sigma^2(a_{T_{k+1}}) \log \frac{T_{k+1}/a_{T_{k+1}}}{\log \log T_k}\right)^{-1/2} \\ &\quad \times \sup_{0 \leq t \leq T_k - a_{T_k}} \sup_{0 \leq s \leq a_{T_{k+1}} - a_{T_k}} |X(t+s) - X(t)| \end{aligned}$$

where

$$D_k = \left(\frac{\sigma^2(a_{T_k}) \log((T_k/a_{T_k})/\log \log T_k)}{\sigma^2(a_{T_{k+1}}) \log((T_{k+1}/a_{T_{k+1}})/\log \log T_k)} \right)^{1/2}$$

Now,

$$1 \geq D_k \geq \frac{\sigma(a_{T_k})}{\sigma(a_{T_{k+1}})} \left(\frac{T_k}{T_{k+1}}\right)^{1/2} \longrightarrow 1 \quad \text{as } k \rightarrow \infty.$$

The remainder of the proof is to show that

(6)

$$\begin{aligned} \limsup_{k \rightarrow \infty} \left(2\sigma^2(a_{T_{k+1}}) \log \frac{T_{k+1}/a_{T_{k+1}}}{\log \log T_k}\right)^{-1/2} \\ \times \sup_{0 \leq t \leq T_k - a_{T_k}} \sup_{0 \leq s \leq a_{T_{k+1}} - a_{T_k}} |X(t+s) - X(t)| \\ = 0. \end{aligned}$$

In Choi ([2], p.203), we see that

$$\limsup_{k \rightarrow \infty} \{2\sigma^2(a_{T_k})(\log(T_k/a_{T_k}) + \log \log T_k)\}^{-1/2} X_3(T_k) \leq 1 \quad \text{a.s.}$$

So we have

$$\limsup_{k \rightarrow \infty} \sup_{0 \leq t \leq T_k - a_{T_k}} \sup_{0 \leq s \leq a_{T_{k+1}} - a_{T_k}} \gamma_1(T_k) |X(t+s) - X(t)| \leq 1 \quad \text{a.s.}$$

where

$$\begin{aligned} &\gamma_1(T_k) \\ &= \left\{ 2\sigma^2(a_{T_{k+1}} - a_{T_k}) \left(\log \frac{T_k + a_{T_{k+1}}}{a_{T_{k+1}} - a_{T_k}} + \log \log(T_k + a_{T_{k+1}}) \right) \right\}^{-1/2} \end{aligned}$$

For large k , we have also

$$a_{T_{k+1}} - a_{T_k} \leq a_{T_{k+1}} \left(1 - \frac{T_k}{T_{k+1}} \right) \leq A a_{T_{k+1}} k^{A-1},$$

which implies

$$\begin{aligned} &\gamma_1^{-2}(T_k) \left(2\sigma^2(a_{T_{k+1}}) \log \frac{T_{k+1}/a_{T_{k+1}}}{\log \log T_k} \right)^{-1} \\ &= (a_{T_{k+1}} - a_{T_k})^{2\alpha} s^2(a_{T_{k+1}} - a_{T_k}) \left(\log \frac{T_k + a_{T_{k+1}}}{a_{T_{k+1}} - a_{T_k}} + \log \log(T_k + a_{T_{k+1}}) \right) \\ &\quad \times \left((a_{T_{k+1}})^{2\alpha} s^2(a_{T_{k+1}}) \log \frac{T_{k+1}/a_{T_{k+1}}}{\log \log T_k} \right)^{-1} \\ &\leq (A a_{T_{k+1}} k^{A-1})^{2\alpha} s^2(A a_{T_{k+1}} k^{A-1}) \left(\log \frac{T_k + a_{T_{k+1}}}{A a_{T_{k+1}} k^{A-1}} + \log \log(T_k + a_{T_{k+1}}) \right) \\ &\quad \times \left((a_{T_{k+1}})^{2\alpha} s^2(a_{T_{k+1}}) \log \frac{T_{k+1}/a_{T_{k+1}}}{\log \log T_k} \right)^{-1} \\ &\leq k^{2\alpha(A-1)} \left\{ \log \left[\frac{1}{A} k^{1-A} ((r + \epsilon) A \log(k+1) + 1) \right] + (\log \log 2 + A \log(k+1)) \right\} \\ &\quad \times \left\{ \log[(r + \epsilon) A \log(k+1)] - \log \log(k+1) \right\}^{-1} \\ &\longrightarrow 0 \quad \text{as } k \rightarrow \infty. \end{aligned}$$

where $s(\cdot)$ is a slowly varying function. Hence we obtain

$$\begin{aligned} 0 &\leq \limsup_{k \rightarrow \infty} (2\sigma^2(a_{T_{k+1}}) \log \frac{T_{k+1}/a_{T_{k+1}}}{\log \log T_k})^{-1/2} \\ &\quad \times \sup_{0 \leq t \leq T_k - a_{T_k}} \sup_{0 \leq s \leq a_{T_{k+1}} - a_{T_k}} |X(t+s) - X(t)| \\ &= \limsup_{k \rightarrow \infty} \gamma_1(T_k) \sup_{0 \leq t \leq T_k - a_{T_k}} \sup_{0 \leq s \leq a_{T_{k+1}} - a_{T_k}} |X(t+s) - X(t)| \\ &\quad \times \gamma_1^{-1}(T_k) (2\sigma^2(a_{T_{k+1}}) \log \frac{T_{k+1}/a_{T_{k+1}}}{\log \log T_k})^{-1/2} \\ &\leq 0. \end{aligned}$$

This proves (6) and the proof of Theorem 1 is completed.

3. A Parallel result for partial sums

Let $\{X_n; n = 1, 2, \dots\}$ be a stationary Gaussian sequence with $X_0 = 0$, $EX_1 = 0$, $EX_1^2 = 1$ and $E(X_1 X_{1+n}) \leq 0$ for all $n = 1, 2, \dots$. We define partial sums $S(0) = 0$ and $S(n) = \sum_{i=1}^n X_i$ and set $\sigma^2(n) = ES^2(n)$. Assume that $\sigma(n)$ can be extended to a continuous function $\sigma(t)$ of $t > 0$ which is nondecreasing and regularly varying with exponent α ($0 < \alpha < 1$) at infinity. Suppose that $\{a_n : n = 1, 2, \dots\}$ is a nondecreasing sequence of positive integers such that

- (i)'' $1 \leq a_n \leq n$,
- (ii)'' n/a_n is nondecreasing,
- (iii)'' there exists a large constant $r_0 > 0$ such that for $\epsilon > 0$

$$\lim_{n \rightarrow \infty} (n/a_n)/(\log \log n)^{1+\epsilon} = r, \quad r_0 \leq r < \infty.$$

For large n , we define

$$\gamma_n = \{2\sigma^2(a_n)(\log(n/a_n) - \log \log \log n)\}^{-1/2}.$$

and

$$\begin{aligned} X_1(n) &= \sup_{1 \leq j \leq a_n} \sup_{0 \leq i \leq n-j} |S(i+j) - S(i)|, \\ X_2(n) &= \sup_{1 \leq j \leq a_n} \sup_{0 \leq i \leq n-j} (S(i+j) - S(i)), \\ X_3(n) &= \sup_{1 \leq j \leq a_n} \sup_{0 \leq i \leq n-a_n} |S(i+j) - S(i)|, \end{aligned}$$

$$\begin{aligned}
 X_4(n) &= \sup_{1 \leq j \leq a_n} \sup_{0 \leq i \leq n-a_n} (S(i+j) - S(i)), \\
 X_5(n) &= \sup_{0 \leq i \leq n-a_n} |S(i+a_n) - S(i)|, \\
 X_6(n) &= \sup_{0 \leq i \leq n-a_n} (S(i+a_n) - S(i)),
 \end{aligned}$$

respectively. By the similar way as the proof of Theorem 1, we have the following

THEOREM 2. *Let $\{X_n : n = 1, 2, \dots\}$ be a Gaussian sequence as above. Let a_n satisfy the conditions (i)'' \sim (iii)''. Then*

$$\liminf_{n \rightarrow \infty} \gamma_n X_i(n) = \sqrt{\frac{r}{1+r}} \quad i = 1, 2, \dots, 6, \quad \text{a.s.}$$

References

1. R. J. Adler, *An introduction to continuity, extrema and related topics for general Gaussian processes*, IMS Lecture Notes, Monograph Series **12** (1990).
2. Y. K. Choi, *Erdős-Rényi type laws applied to Gaussian processes*, J. Math. Kyoto Univ. **31-1** (1991), 191-217.
3. E. Csáki, M. Csörgö, Z. Y. Lin and P. Révész, *On infinite series of independent Ornstein-Uhlenbeck processes*, Stochastic Process and their Appl. **39** (1991), 25-44.
4. M. Csörgö and P. Révész, *Strong Approximations in Probability and Statistics*, Academic Press, New York, 1981.
5. X. Fernique, *Evaluations of processus Gaussiens cmposes*, Probability in Banach spaces Oberwalbach, Lecture Notes in Math., Springer **526** (1975), 67-83.
6. Z. Y. Lin and C. R. Lu, *Strong Limit Theorems*, Science Press, Beijing, New York, 1992.
7. Q. M. Shao, *Remark on increments of the Wiener proces*, (Chinese) J. Math. **6** (1986), 175-182.
8. D. Slepian, *The one-sided barrier problem for Gaussian noise*, Bell. System Tech. J. **41** (1962), 463-501.

Department of Mathematics
 College of Natural Science
 Gyeongsang National University
 Chinju 660-701, Korea